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Касс
а



зебра      б р е з а       

1   4   5   8   9   11   12   13   24   35   47  
66  70    89



8 + 6 =

17 – слон 
14 – ёж
15 - жираф



ё ж 

Ёж нашёл 4 белых гриба и 2 подберёзовика. 
Сколько всего грибов нашёл ёж?

е ж и





белка



заяц

Зайку зовут Зазнайка.

зайчонок
зайка



    мирно
  ласково
  ловко

лазили
визжали
бродил



Зоопарк



бегемоткрокодил

гиппопотам

а…….р г……..м
аллигатор



Кто 
самый 

сильный?



сова



бабочка



щука



Голоден,  как

Хитёр, как 

Колючий,  как 

Труслив,  как

Нем,  как



О Д М Ы Л Ц

ЫМ О ОЛ Д !Ц
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ВСЕМ СПАСИБО!
ВСЕ МОЛОДЦЫ!


